

BANACH ALGEBRAS VALUED λ – ADDITIVE MEASURES

Ion Chițescu¹, Alice Dagmar Anghescu², Ștefania Constantinescu³ and Roxana - Maria Vilcescu⁴

We extend the concept of λ -additivity for measures which take their values in commutative unital Banach algebras. Among other facts, an important idea is to see that (like in the positive case) such measures can be "representable" sometimes, i.e. can be obtained from additive measures via a suitable functional composition. We use this in order to obtain a non trivial example and an extension of Lyapounov's convexity theorem.

Keywords: Generalized measure, λ -additive measure, Banach algebra, non atomic measure, logarithmic convexity.

MSC2020: Primary: 28B05, 28E10, 46H05, 46H30, 46J10.
Secondary: 52A07, 52A21.

1. Introduction

Classical measure theory deals with additive (or, which is more, with countably additive) measures. Recently, it was seen that more varied tools, other than additive measures, are necessary in order to describe and study a multitude of phenomena. These tools are the (*positive*) *generalized measures* which are monotone and possibly non additive. Superadditive measures indicate a cooperative action or synergy between the measured items (sets), whilst subadditive measures indicate inhibitory effects, lack of cooperation or incompatibility between the measured items (sets). Additive measures can express non interaction or indifference.

The history of non additive measures is short. It began with [8]. We think that the decisive step in the development of the theory of non additive measures was Dr. Eng. dissertation [17] from 1974 of the Japanese scholar M. Sugeno. In [17] basic facts concerning generalized measures (called there "fuzzy measures") and non linear integrals (called there "fuzzy integrals") were introduced. As asserted in the Introduction of [17], the main goal was to study uncertainties. One must add that, nowadays, many authors call the fuzzy measures and fuzzy integrals simply generalized measures and generalized integrals.

It is widely accepted that the most important generalized measures are the λ -*measures* (more precisely the λ -*additive measures*) introduced in the same work [17]. An important result primarily due to Z. Wang (see [20]) asserts that any λ -measure can be obtained from a classical measure via a canonical procedure – composition with a special increasing function (see also [21], [22], [2], [15]). We called the generalized measures which can be obtained in such a way *representable measures* (see [5]). M. Sugeno uses the term "distorted measures" for the representable measures on intervals (see [18] and [19]). Special types of λ - measure

¹Professor, Faculty of Applied Sciences, University "Politehnica" of Bucharest, Romania, e-mail: ionchitescu@yahoo.com

²Master Student, Faculty of Mathematics and Informatics, University of Bucharest, Romania, e-mail: alice_dag@yahoo.com

³Teaching Assistant, Technical University of Civil Engineering of Bucharest, Romania, e-mail: stefania.constantinescu@utcb.ro

⁴PhD Student, Faculty of Applied Sciences, University "Politehnica" of Bucharest, Romania, e-mail: roxam86@yahoo.com

were studied in [6] and [7]. Other types appear in the mathematical theory of evidence, created by G. Shafer (belief and possibility measures, see [16] and [21]). There are a lot of domains where generalized measures (in particular λ – measures) appear, see e.g. the joint monograph [12].

As it is well known, classical measure and integration theory was substantially generalized starting with the first half of the 20th century when vector measures and integrals were introduced and studied. The present paper is written following this line of thinking.

Namely, *we pass from positive valued λ -additive measures to vector valued λ -additive measures*, trying to extend the facts and methods from the positive case to the vector case. More precisely, we naturally extend the concept of λ -additivity to measures which take their values in Banach algebras.

A brief survey of the content follows.

After the present Introduction, the paper continues with a section containing necessary "Preliminary Facts". The main section ("Results") is divided into four subsections. The first one contains some basic algebraic computations. The second one establishes a representability – type correspondence between additive and λ -additive measures, whilst the third one establishes a similar correspondence between σ -additive and $\sigma - \lambda$ -additive measures. In the fourth subsection we exhibit a non trivial example of $\sigma - \lambda$ -additive vector measure and a logarithmic convexity result.

For classical measure theory, see [13]. For vector measures theory, see [9], [10] and [11]. For generalized measure theory, see [21] and [22]. For Banach algebras, see [1] and [4].

2. Preliminary Facts

We shall work with \mathbb{C} = the field of complex numbers. Then $\mathbb{C} \supset \mathbb{R}_+ = [0, \infty) \supset \mathbb{N} = \{1, 2, \dots, n, \dots\}$. All sequences will be indexed with \mathbb{N} and $(x_n)_n \subset A$ means that $x_n \in A$ for any $n \in \mathbb{N}$ (if A is a non empty set).

Let A, B, C be non empty sets and $A_1 \subset A, B_1 \subset B$ be non empty subsets. Assume that the functions $f : A_1 \rightarrow B$ and $g : B_1 \rightarrow C$ are such that $f(A_1) \subset B_1$. Then the (generalized) composition $g \circ f : A_1 \rightarrow C$ is defined via $(g \circ f)(x) \stackrel{\text{def}}{=} g(f(x))$ for any $x \in A_1$ (we shall use it in the sequel).

For any non empty set T , let $\mathcal{P}(T)$ be the set of all subsets of T and let $\mathcal{C} \subset \mathcal{P}(T)$ be a ring of sets. Then, if X is a normed space or $X = \mathbb{R}_+$, a function $m : \mathcal{C} \rightarrow X$ having the property $m(\emptyset) = 0$ will be called a *generalized measure*. A generalized measure $m : \mathcal{C} \rightarrow X$ having the property that $m(A \cup B) =$

$= m(A) + m(B)$, whenever $A \cap B = \emptyset$, will be called an *additive measure*. It is equivalent for m to be *finitely additive*, i.e. $m\left(\bigcup_{i=1}^n A_i\right) = \sum_{i=1}^n m(A_i)$, whenever A_1, A_2, \dots, A_n in \mathcal{C} are mutually disjoint (i.e. $A_i \cap A_j = \emptyset$ if $i \neq j$). The generalized measure $m : \mathcal{C} \rightarrow X$ is called *σ -additive (countably additive)* in case $m\left(\bigcup_{i=1}^{\infty} A_i\right) = \sum_{i=1}^{\infty} m(A_i)$ (convergence in X),

whenever the sequence $(A_i)_i \subset \mathcal{C}$ is disjoint (i.e. $A_i \cap A_j = \emptyset$ if $i \neq j$) and $\bigcup_{i=1}^{\infty} A_i \in \mathcal{C}$. If m is σ -additive, then m is additive, the converse being false.

If $m : \mathcal{C} \rightarrow X$ is a generalized measure, we say that a set $A \in \mathcal{C}$ is an *atom of m* if $m(A) \neq 0$ and one has either $m(B) = 0$ or $m(B) = m(A)$ for any $\mathcal{C} \ni B \subset A$. In case there does not exist any atom for m , we say that m is *non atomic*.

Let X be a commutative and unital Banach algebra over \mathbb{C} . The norm of $x \in X$ is $\|x\|$ and the unit of X is u . The invertible elements of X form the set $G(X)$ (of course $u \in G(X)$).

For any $0 < M < \infty$, let

$$B_M = \{x \in X \mid \|x\| < M\}.$$

Then, we define

$$B = \{x \in X \mid x - u \in B_1\} = \{x \in X \mid \|x - u\| < 1\}$$

and notice that $B \subset G(X)$.

For any $x \in X$, the *spectrum* of x is the set

$$\text{Sp}(x) = \{\lambda \in \mathbb{C} \mid \lambda u - x \notin G(X)\}$$

and we know that $\text{Sp}(x)$ is a non empty compact subset of $\{\lambda \in \mathbb{C} \mid |\lambda| \leq \|x\|\}$. The exponential function $\exp : X \rightarrow X$ is defined via

$$\exp(x) = u + \sum_{n=1}^{\infty} \frac{1}{n!} x^n = \sum_{n=0}^{\infty} \frac{1}{n!} x^n$$

(the series converges absolutely).

We have $\exp(x+y) = \exp(x)\exp(y)$ for any x, y in X . Also $\exp(X) \subset G(X)$ and $\exp(x)^{-1} = \exp(-x)$ for any $x \in X$.

Consider the open half plane $D = \{z = a + ib \in \mathbb{C} \mid a > 0\}$. One knows that, for any $y \in X$ such that $\text{Sp}(y) \subset D$, there exists $x \in X$ such that $y = \exp(x)$ (one uses the functional calculus in Banach algebras). In particular, one can prove that for any $y \in B$ one has $\text{Sp}(y) \subset D$, hence we can find $x \in X$ such that $\exp(x) = y$. In this case, call $x = \log(y)$. We defined the analytical function $\log : B \rightarrow X$ and we have the formula (for y as above)

$$\log(y) = - \sum_{n=1}^{\infty} \frac{1}{n} (u - y)^n.$$

We retain the fact that, for any $y \in B$, one has $\exp(\log(y)) = y$, consequently $\exp(X) \supset B$.

It is natural to introduce the set

$$\Delta = \{\log(y) \mid y \in B\}.$$

Previous facts show that \exp is injective on Δ . For any $y \in B$ one has $\exp(\log(y)) = y$, hence $\log(\exp(\log(y))) = \log y$, i.e. $\log(\exp(x)) = x$ for any $x = \log y \in \Delta$. This enables us to introduce the functions (use restrictions and corestrictions)

$$\text{Exp} : \Delta \rightarrow B, \text{Exp}(x) \stackrel{\text{def}}{=} \exp(x)$$

$$\text{Log} : B \rightarrow \Delta, \text{Log}(y) \stackrel{\text{def}}{=} \log(y)$$

and $\text{Log} = \text{Exp}^{-1}$, $\text{Exp} = \text{Log}^{-1}$.

Notice also that, for any y_1, y_2, \dots, y_n in B such that $y_1 y_2 \dots y_n \in B$, one has

$$\text{Log}(y_1 y_2 \dots y_n) = \text{Log}(y_1) + \text{Log}(y_2) + \dots + \text{Log}(y_n).$$

For any $a \in B$ and any $t \in \mathbb{C}$, we shall introduce a^t as follows.

Let $b = \log(a)$. Then $a^t \stackrel{\text{def}}{=} \exp(tb)$.

A set $A \subset B$ will be called *logarithmically convex* if $x^{1-t}y^t \in A$, whenever x, y are in A and $t \in [0, 1]$.

The most popular commutative unital algebra is

$$C(T) = \{f : T \rightarrow \mathbb{C} \mid f \text{ is continuous}\}.$$

Here T is a compact Hausdorff space, $C(T)$ is equipped with the natural operations, the unit $u \in C(T)$ is the constant function equal to 1 everywhere and the norm of $f \in C(T)$ is $\|f\| = \sup \{|f(t)| \mid t \in T\}$. In case $T = \{1, 2, \dots, n\}$ for some $n \in \mathbb{N}$, with the discrete

topology, we have $C(T) = \mathbb{C}^n$ (any norm on \mathbb{C}^n gives the same topology, namely the topology of $C(T)$).

3. Results

Throughout this section, X will be a commutative unital Banach algebra.

3.1. Algebraic Considerations. Let λ and c be non null complex numbers. (c is deliberately not mentioned). First we define $h_\lambda : X \rightarrow X$ via

$$h_\lambda(x) = \frac{1}{\lambda}(\exp(c\lambda x) - u). \quad (3.1)$$

It is seen that, in case $x \in X$ is such that $c\lambda x \in \Delta$, one has $\|h_\lambda(x)\| < \frac{1}{|\lambda|}$, because $\exp(c\lambda x) = \exp(\log(y)) = y$ for some $y \in B$, hence $h_\lambda(\frac{1}{c\lambda}\Delta) \subset B_{1/|\lambda|}$.

Consequently, we have the injection (use that \exp is injective on Δ)

$$H_\lambda : \frac{1}{c\lambda}\Delta \rightarrow B_{1/|\lambda|}, H_\lambda(x) = h_\lambda(x). \quad (3.2)$$

Now, we introduce the set

$$E(\lambda) = \left\{ u + \lambda y \mid \|y\| < \frac{1}{|\lambda|} \right\} = \left\{ u + \lambda y \mid y \in B_{1/|\lambda|} \right\},$$

hence $E(\lambda) \subset B$.

This enables us to define $\theta_\lambda : B_{1/|\lambda|} \rightarrow X$ via

$$\theta_\lambda(y) = \frac{1}{c\lambda} \log(u + \lambda y) \quad (3.3)$$

because $u + \lambda y \in E(\lambda)$.

In this case, one has $\log(u + \lambda y) \in \Delta$; it follows that $\theta_\lambda(B_{1/|\lambda|}) \subset \subset \frac{1}{c\lambda}\Delta$ and we have the function

$$\Theta_\lambda : B_{1/|\lambda|} \rightarrow \frac{1}{c\lambda}\Delta, \Theta_\lambda(y) = \theta_\lambda(y). \quad (3.4)$$

Taking into account (3.2) and (3.4), we can see that $\Theta_\lambda, H_\lambda$ are bijections, $\Theta_\lambda = H_\lambda^{-1}$ and $H_\lambda = \Theta_\lambda^{-1}$.

3.2. Additivity and λ -Additivity in Correspondence. Let T be a non empty set and let $\mathcal{C} \subset \mathcal{P}(T)$ be a ring of sets. Let λ be a non null complex number.

Definition 3.1. A generalized measure $\mu : \mathcal{C} \rightarrow X$ is called λ -additive (satisfies the λ -rule) if, for any A, B in \mathcal{C} such that $A \cap B = \emptyset$ one has

$$\mu(A \cup B) = \mu(A) + \mu(B) + \lambda\mu(A)\mu(B).$$

Remarks. Of course, if we take $\lambda = 0$ into consideration, the 0-additive measures are exactly the (finitely) additive measure.

Definition 3.2. A generalized measure $\mu : \mathcal{C} \rightarrow X$ is called finitely λ -additive if, for any A_1, A_2, \dots, A_n in \mathcal{C} which are mutually disjoint, one has

$$\mu(A_1 \cup A_2 \cup \dots \cup A_n) = \frac{1}{\lambda} \left(\prod_{i=1}^n (u + \lambda\mu(A_i)) - u \right)$$

(clearly, for $n = 2$, one has λ -additivity).

Actually, Definitions 3.1 and 3.2 are equivalent.

The first result shows how to pass from additivity to λ -additivity.

Theorem 3.1. Let $m : \mathcal{C} \rightarrow X$ be an additive measure.

Then $\mu = h_\lambda \circ m : \mathcal{C} \rightarrow X$ is a λ -additive measure, for any $0 \neq c \in \mathbb{C}$. Using (3.1), recall that, for any $A \in \mathcal{C}$, one has

$$\mu(A) = \frac{1}{\lambda} (\exp(c\lambda m(A)) - u).$$

Proof. Let $A, B \in \mathcal{C}$, $A \cap B = \emptyset$. Then

$$\begin{aligned} \mu(A \cup B) &= \frac{1}{\lambda} (\exp(c\lambda m(A \cup B)) - u) = \frac{1}{\lambda} (\exp(c\lambda(m(A) + m(B))) - u) = \\ &= \frac{1}{\lambda} (\exp(c\lambda m(A)) \exp(c\lambda m(B) - u)). \end{aligned}$$

At the same time:

$$\begin{aligned} \mu(A) + \mu(B) + \lambda\mu(A)\mu(B) &= \frac{1}{\lambda} (\exp(c\lambda m(A)) - u) + \frac{1}{\lambda} (\exp(c\lambda m(B)) - u) + \\ &+ \frac{1}{\lambda} (\exp(c\lambda m(A)) - u) (\exp(c\lambda m(B)) - u) = \\ &= \frac{1}{\lambda} (\exp(c\lambda m(A)) (\exp(c\lambda m(B)) - u)) \text{ a.s.o.} \end{aligned}$$

□

The next result will be in the opposite sense, namely we shall see how to pass from λ -additivity to additivity. A certain complication appears, because, for x, y in B one must have $xy \in B$ in order to be able to compute $\log(xy)$, as we shall see. For positive measures, this complication does not appear.

So, let $x = u + a, y = u + b$ in B (hence $\|a\| < 1, \|b\| < 1$) and let us see under which conditions one has $xy = u + a + b + ab \in B$, i.e. $\|a + b + ab\| < 1$. A sufficient condition would be $\|a\| + \|b\| + \|a\|\|b\| < 1$. Considering some $t > 0$ such that $\|a\| < t$ and $\|b\| < t$, it will be sufficient to have $t + t + t^2 \leq 1$, i.e. $0 < t \leq \sqrt{2} - 1$. Conclusion: if $x = u + a, y = u + b$, with $\|a\| < \sqrt{2} - 1, \|b\| < \sqrt{2} - 1$, then x, y and xy are in B .

Theorem 3.2. Let $\mu : \mathcal{C} \rightarrow X$ be a λ -additive measure which is bounded and assume that

$$M \stackrel{\text{def}}{=} \sup \{ \|\mu(A)\| \mid A \in \mathcal{C} \} < \frac{\sqrt{2} - 1}{|\lambda|}.$$

Then $B_M \subset B_{1/|\lambda|}$ and the measure $m = \theta_\lambda \circ \mu : \mathcal{C} \rightarrow X$ (generalized composition) is additive, for any $0 \neq c \in \mathbb{C}$. Using (3.3), recall that, for any $A \in \mathcal{C}$, one has

$$m(A) = \frac{1}{c\lambda} \log(u + \lambda\mu(A)).$$

Proof. We have $B_M \subset B_{1/|\lambda|}$, because $M < \frac{\sqrt{2}-1}{|\lambda|} < \frac{1}{|\lambda|}$.

Consequently, for any $A \in \mathcal{C}$, one has $\|\mu(A)\| \leq \frac{1}{|\lambda|}$ and $\|\lambda\mu(A)\| < \sqrt{2} - 1 < 1$, hence $u + \lambda\mu(A) \in B$. It follows that we can compute $m(A) = (\theta_\lambda \circ \mu)(A) = \theta_\lambda(\mu(A)) = \frac{1}{c\lambda} \log(u + \lambda\mu(A)) \in \frac{1}{c\lambda} \Delta$.

To prove the additivity of m , take A', B' in \mathcal{C} such that $A' \cap B' = \emptyset$. Then

$$\begin{aligned} m(A' \cup B') &= \frac{1}{c\lambda} \log(u + \lambda\mu(A' \cup B')) = \\ &= \frac{1}{c\lambda} \log(u + \lambda\mu(A') + \lambda\mu(B') + \lambda^2 \lambda\mu(A')\lambda\mu(B')) = \\ &= \frac{1}{c\lambda} \log((u + \lambda\mu(A'))(u + \lambda\mu(B'))) = \\ &= \frac{1}{c\lambda} (\log(u + \lambda\mu(A')) + \log(u + \lambda\mu(B'))) = m(A') + m(B'). \end{aligned}$$

We used the fact that $u + \lambda\mu(A')$, $u + \lambda\mu(B')$ and $(u + \lambda\mu(A'))(u + \lambda\mu(B'))$ are in B , because $|\lambda|\|\mu(A')\| < \sqrt{2} - 1$ and $|\lambda|\|\mu(B')\| < \sqrt{2} - 1$. \square

Consequence 3.3. *Let $\mu : \mathcal{C} \rightarrow X$ be a λ -additive measure which is bounded and assume that*

$$M = \sup \{ \|\mu(A)\| \mid A \in \mathcal{C} \} < \frac{\sqrt{2} - 1}{|\lambda|}.$$

Then $\mu = h_\lambda \circ m$, where m appears in Theorem 3.2.

Proof. For any $A \in \mathcal{C}$, one has $\mu(A) \in B_M \subset B_{1/|\lambda|}$, hence $m(A) = \theta_\lambda(\mu(A)) \in \frac{1}{c\lambda} \Delta$ (as in the proof of Theorem 3.2). This implies that $(h_\lambda \circ m)(A) = h_\lambda(\theta_\lambda(\mu(A))) = (H_\lambda \circ \Theta_\lambda)(\mu(A)) = \mu(A)$. \square

Remark. *The preceding result can be interpreted as follows: in case a λ -additive measure μ is "flat enough", i.e.*

$$M = \sup \{ \|\mu(A)\| \mid A \in \mathcal{C} \} < \frac{\sqrt{2} - 1}{|\lambda|},$$

then μ is "representable", i.e. there exists an additive measure m which "represents" μ , this meaning that $\mu = h_\lambda \circ m$.

3.3. σ -Additivity and $\sigma - \lambda$ -Additivity in Correspondence. We begin with infinite products in Banach algebras. Our (ad-hoc) definitions will not involve any restrictions (recall that in the scalar case, the convergent infinite products must have non zero values...).

Definition 3.3. *Let $(x_n)_n \subset X$ be a sequence. We say that the infinite product $\prod_{n=1}^{\infty} x_n$ is convergent if the sequence $(P_n)_n$, defined via $P_n = \prod_{i=1}^n x_i$ is convergent (in X), with $\lim_n P_n = P$. In this case, we write $P \stackrel{\text{def}}{=} \prod_{n=1}^{\infty} x_n$ and we call P (or $\prod_{n=1}^{\infty} x_n$) the value of the infinite product.*

Lemma 3.1. *Assume that the sequence $(x_n)_n$ has the following properties:*

- a) $x_n \in B$ for any n .
- b) $\prod_{n=1}^{\infty} x_n$ is convergent and $\prod_{n=1}^{\infty} x_n \in B$.

Then:

- 1) *There exists n_0 such that $P_n = \prod_{i=1}^n x_i \in B$ for any $n \geq n_0$ (because B is a neighbourhood of P).*
- 2) $\log \left(\prod_{n=1}^{\infty} x_n \right) = \sum_{n=1}^{\infty} \log(x_n)$.

Proof. For any $n \geq n_0$, one has $\log(P_n) = \log \left(\prod_{i=1}^n x_i \right) = \sum_{i=1}^n \log(x_i)$. Then $\lim_n \prod_{i=1}^n x_i = \prod_{i=1}^{\infty} x_i \in B$, hence (\log is analytic): $\lim_n \log \left(\prod_{i=1}^n x_i \right) = \log \left(\prod_{i=1}^{\infty} x_i \right)$, i.e. $\lim_n \sum_{i=1}^n \log(x_i) \stackrel{\text{def}}{=} \sum_{n=1}^{\infty} \log(x_n) = \log \left(\prod_{n=1}^{\infty} x_n \right)$. \square

In the sequel, we consider again a non empty set T , a ring $\mathcal{C} \subset \mathcal{P}(T)$ and a non null complex number λ .

Definition 3.4. A generalized measure $\mu : \mathcal{C} \rightarrow X$ is called $\sigma - \lambda$ -additive (satisfies the $\sigma - \lambda$ -rule) if, for any disjoint sequence $(E_i)_i \subset \mathcal{C}$ such that $\bigcup_{i=1}^{\infty} E_i \in \mathcal{C}$, one has

$$\mu\left(\bigcup_{i=1}^{\infty} E_i\right) = \frac{1}{\lambda} \left(\prod_{i=1}^{\infty} (u + \lambda \mu(E_i)) - u \right).$$

The infinite product in the definition is assumed to be convergent.

Remarks. 1. (This is a definition) $\sigma - 0$ -additivity means σ -additivity.

2. If μ is $\sigma - \lambda$ -additive, it follows that μ is λ -additive (the converse is false).

Theorem 3.4. With the notations from Theorem 3.1 and within the same framework, let us assume that m is σ -additive.

Then, for any $\lambda \neq 0$, it follows that $\mu = h_{\lambda} \circ m$ is $\sigma - \lambda$ -additive.

Proof. Let $(E_i)_i \subset \mathcal{C}$ be a disjoint sequence with $\bigcup_{i=1}^{\infty} E_i \in \mathcal{C}$. One must prove that

$$\begin{aligned} \mu\left(\bigcup_{i=1}^{\infty} E_i\right) &\stackrel{\text{def}}{=} (h_{\lambda} \circ m)\left(\bigcup_{i=1}^{\infty} E_i\right) = \\ &= \frac{1}{\lambda} \left(\prod_{i=1}^{\infty} (u + \lambda \mu(E_i)) - u \right) = \frac{1}{\lambda} \left(\prod_{i=1}^{\infty} (u + \lambda (h_{\lambda} \circ m)(E_i)) - u \right). \end{aligned}$$

Because $m\left(\bigcup_{i=1}^{\infty} E_i\right) = \lim_n \sum_{i=1}^n m(E_i)$, we have

$$\begin{aligned} (h_{\lambda} \circ m)\left(\bigcup_{i=1}^{\infty} E_i\right) &= h_{\lambda}\left(\lim_n \sum_{i=1}^n m(E_i)\right) = \lim_n h_{\lambda}\left(\sum_{i=1}^n m(E_i)\right) = \\ &= \lim_n \frac{1}{\lambda} \left(\exp\left(c\lambda \sum_{i=1}^n m(E_i)\right) - u \right) = \lim_n \frac{1}{\lambda} \left(\prod_{i=1}^n \exp(c\lambda m(E_i)) - u \right) = \\ &= \lim_n \frac{1}{\lambda} \left(\prod_{i=1}^n (u + \exp(c\lambda m(E_i)) - u) - u \right) = \\ &= \lim_n \frac{1}{\lambda} \left(\prod_{i=1}^n (u + \lambda (h_{\lambda} \circ m)(E_i)) - u \right) = \frac{1}{\lambda} \left(\prod_{i=1}^{\infty} (u + \lambda (h_{\lambda} \circ m)(E_i)) - u \right). \end{aligned}$$

□

Theorem 3.5. With the notation from Theorem 3.2 and within the same framework, assume that μ is $\sigma - \lambda$ -additive.

Then $m = \theta_{\lambda} \circ \mu$ is σ -additive and $\mu = h_{\lambda} \circ m$.

Proof. Let $(E_i)_i \subset \mathcal{C}$ be a disjoint sequence with $\bigcup_{i=1}^{\infty} E_i \in \mathcal{C}$. Then

$$\begin{aligned} m\left(\bigcup_{i=1}^{\infty} E_i\right) &= (\theta_{\lambda} \circ \mu)\left(\bigcup_{i=1}^{\infty} E_i\right) = \theta_{\lambda}\left(\mu\left(\bigcup_{i=1}^{\infty} E_i\right)\right) = \\ &= \frac{1}{c\lambda} \left(\log\left(u + \lambda \mu\left(\bigcup_{i=1}^{\infty} E_i\right)\right) \right) = \\ &= \frac{1}{c\lambda} \left(\log\left(u + \prod_{i=1}^{\infty} (u + \lambda \mu(E_i)) - u\right) \right) = \frac{1}{c\lambda} \log\left(\prod_{i=1}^{\infty} u + \lambda \mu(E_i)\right). \end{aligned}$$

The last equality is meaningful, because $\prod_{i=1}^{\infty} (u + \lambda\mu(E_i)) \in B$, in view of the fact that $\prod_{i=1}^{\infty} (u + \lambda\mu(E_i)) = u + \lambda\mu\left(\bigcup_{i=1}^{\infty} E_i\right) \in B$ (see Theorem 3.2).

According to Lemma 3.1, one has $\log\left(\prod_{i=1}^{\infty} (u + \lambda\mu(E_i))\right) = \sum_{i=1}^{\infty} \log(u + \lambda\mu(E_i))$, because $u + \lambda\mu(E_i) \in B$ for any i .

We got finally:

$$m\left(\bigcup_{i=1}^{\infty} E_i\right) = \frac{1}{c\lambda} \sum_{i=1}^{\infty} \log(u + \lambda\mu(E_i)) = \sum_{i=1}^{\infty} \frac{1}{c\lambda} \log(u + \lambda\mu(E_i)) = \sum_{i=1}^{\infty} m(E_i).$$

The equality $\mu = h_{\lambda} \circ m$ follows from Consequence 3.3. \square

3.4. Applications.

We shall deal with the commutative unital Banach algebra $X = C(T)$.

A. Take $T = [a, b]$ (where $-\infty < a < b < \infty$), \mathcal{C} = the Lebesgue measurable sets of $[a, b]$ and let $\ell : \mathcal{C} \rightarrow \mathbb{R}_+$ be the Lebesgue measure on $[a, b]$.

For any $A \in \mathcal{C}$ we have the continuous function $W_A : [a, b] \rightarrow \mathbb{C}$, acting via $W_A(t) = \ell(A \cap [a, t])$ for any $t \in [a, b]$, hence $W_A \in X = C([a, b])$. The generalized measure $m : \mathcal{C} \rightarrow X$ given via $m(A) = W_A$ is σ -additive (direct verification). Then, for any non null complex numbers c and λ , we apply Theorem 3.4, obtaining the non trivial example of $\sigma - \lambda$ -additive measure $\mu = h_{\lambda} \circ m : \mathcal{C} \rightarrow X$. Namely, for any $A \in \mathcal{C}$, one has $\mu(A) = \frac{1}{\lambda}(\exp(c\lambda m(A)) - u)$. So, for any $A \in \mathcal{C}$ and $t \in [a, b]$, one has $\mu(A) = \frac{1}{\lambda}(\exp(c\lambda m(A))(t) - 1)$. Because, for any $f \in X$ which is real valued, for any λ and c real and for any $t \in [a, b]$, one has (using the action of \exp in the real domain): $\exp(f)(t) = \exp(f(t)) = e^{f(t)}$ we get, for any $A \in \mathcal{C}$ and $t \in [a, b]$:

$$\mu(A)(t) = \frac{1}{\lambda} \left(e^{c\lambda\ell(A \cap [a, t])} - 1 \right)$$

Remark. Let us work for $T = [a, b] = [0, 1]$, $\lambda = c = 1$ and for real valued functions in $X = C(T)$. One has, for any $A \in \mathcal{C}$ and any $t \in [0, 1]$

$$\mu(A)(t) = e^{\ell(A \cap [0, t])} - 1 \geq \ell(A \cap [0, t])$$

hence

$$\|\mu(A)\| \geq \sup_{t \in [0, 1]} \ell(A \cap [0, t]) = \ell(A).$$

This implies that

$$M = \sup \{ \|\mu(A)\| \mid A \in \mathcal{C} \} \geq \ell([0, 1]) = 1 > \frac{\sqrt{2} - 1}{|\lambda|} = \sqrt{2} - 1.$$

Clearly μ is representable, being "represented" by m . So, this example shows that the condition $M < \frac{\sqrt{2} - 1}{|\lambda|}$ in Theorem 3.2 is only sufficient, not being necessary for the "representability" of μ .

B. Now, take $T = \{1, 2, \dots, n\}$ with the discrete topology, hence we work in the commutative unital Banach algebra $X = \mathbb{C}^n$.

Theorem 3.6. Consider a non null complex number λ , a non empty set Ω , a σ -algebra $\Sigma \subset \mathcal{P}(\Omega)$ and a $\sigma - \lambda$ -additive measure $\mu : \Sigma \rightarrow \mathbb{C}^n$ such that (see Theorem 3.2)

$$M = \sup \{ \|\mu(A)\| \mid A \in \Sigma \} < \frac{\sqrt{2} - 1}{|\lambda|}.$$

Assume that μ is non atomic.

Then the range

$$\mu(\Sigma) = \{\mu(A) \mid A \in \Sigma\}$$

is compact and the set

$$E(\lambda, \mu) = \{u + \lambda\mu(A) \mid A \in \Sigma\}$$

is compact and logarithmically convex.

Proof. According to Theorem 3.5, it follows that $\mu = h_\lambda \circ m$, where $m : \Sigma \rightarrow \mathbb{C}^n$ is the σ -additive measure given via $m = \theta_\lambda \circ \mu$. First, we notice that m is non atomic. Indeed, if there exists an atom A of m , then $m(A) \neq 0$ and, for any $\Sigma \ni B \subset A$, one has either $m(B) = 0$ or $m(B) = m(A)$. Then, either $\mu(B) = h_\lambda(m(B)) = h_\lambda(0) = 0$ or $\mu(B) = h_\lambda(m(B)) = h_\lambda(m(A)) = \mu(A)$. Besides, $\mu(A) \neq 0$. Indeed, h_λ is injective on $\theta_\lambda(B_{1/|\lambda|}) \supset \{\theta_\lambda(\mu(C)) \mid C \in \Sigma\}$ and $\mu(A) = 0$, i.e. $h_\lambda(m(A)) = 0$ would imply that $h_\lambda(m(A)) = h_\lambda(0)$, i.e. $m(A) = 0$, which is false. This completes the proof of the fact that A should be an atom of μ , impossible. Applying the famous convexity theorem of A. Lyapounov to the non atomic $m : \Sigma \rightarrow \mathbb{C}^n$ (see e.g. [9], [14], [3]), it follows that the range $m(\Sigma) = \{m(A) \mid A \in \Sigma\}$ is compact and convex. Because $\mu = h_\lambda \circ m$, it follows that $\mu(\Sigma) = h_\lambda(m(\Sigma))$ is compact.

Finally, we prove that the set $E(\lambda, \mu)$ is logarithmically convex (the fact that this set is compact is true because $\mu(\Sigma)$ is compact).

First, it is seen that $E(\lambda, \mu) \subset B$, because $\|\lambda\mu(C)\| < 1$ for any $C \in \Sigma$ (i.e. the enunciation is meaningful).

Next, take $U \in \Sigma, V \in \Sigma, t \in [0, 1]$ and let us find $D \in \Sigma$ such that

$$(u + \lambda\mu(U))^{1-t}(u + \lambda\mu(V))^t = u + \lambda\mu(D). \quad (3.5)$$

Because $m(\Sigma)$ is convex, we can find $D \in \Sigma$ such that

$$(1-t)m(U) + tm(V) = m(D). \quad (3.6)$$

and we shall prove (3.5) for this D . From (3.6), it follows that

$$\exp((1-t)m(U) + tm(V)) = \exp((1-t)m(U)) \cdot \exp(tm(V)) = \exp(m(D)). \quad (3.7)$$

We have successively

$$m(D) = \frac{1}{c\lambda} \log(u + \lambda\mu(D)), \text{ hence } \exp(m(D)) = (u + \lambda\mu(D))^{\frac{1}{c\lambda}}$$

$$m(U) = \frac{1}{c\lambda} \log(u + \lambda\mu(U)), \text{ hence } \exp(m(U)) = (u + \lambda\mu(U))^{\frac{1}{c\lambda}}$$

and $\exp((1-t)m(U)) = (u + \lambda\mu(U))^{\frac{1-t}{c\lambda}}$. Similarly $\exp(tm(V)) = (u + \lambda\mu(V))^{\frac{t}{c\lambda}}$.

It follows that the true relation (3.7) is exactly relation (3.5) (at power $\frac{1}{c\lambda}$) and this finished the proof. \square

References

- [1] G. R. Allan, Introduction to Banach Spaces and Algebras (Oxford Graduate Texts in Mathematics), Oxford University Press, 2011.
- [2] M. Berres, λ -additive measures on measure spaces, Fuzzy Sets and Systems, **27**(1988), No. 2, 159-169.
- [3] E. D. Bolker, A class of convex bodies, Trans. Amer. Math. Soc., **145**(1969), 323-345.
- [4] F. F. Bonsall and J. Duncan, Complete Normed Algebras, Springer, 1973.
- [5] I. Chi̯escu, Why λ -additive (fuzzy) measures?, Kybernetika, **51**(2015), No. 2, 246-254.
- [6] I. Chi̯escu and A. Plăviču, Sugeno Measures on the Code Space, Romanian Journal of Information Science and Technology, **17**(2014), No. 3, 1-19.

- [7] *I. Chițescu and D. Stănică and A. Plăvițu*, Existence and uniqueness of countable λ -measures with preassigned values, *Fuzzy Sets and Systems*, **244**(2014), No. 2, 1-19.
- [8] *G. Choquet*, Theory of Capacities, *Annales de l'Institut Fourier*, **5**(1953-1954), 131-295.
- [9] *J. Diestel and J.J. Uhl Jr.*, *Vector Measures*, American Mathematical Society. Providence, Rhode Island, 1977.
- [10] *N. Dinculeanu*, *Vector Measures*, Veb Deutscher Verlag der Wissenschaften, 1966.
- [11] *N. Dunford and J. T. Schwartz*, *Linear Operators. Part 1: General Theory*, Interscience Publ., New York, 1958.
- [12] *M. Grabisch and T. Murofushi and M. Sugeno (Editors)*, *Fuzzy Measures and Integrals: Theory and Applications*, Physica-Verlag, Heidelberg, 2000.
- [13] *P. R. Halmos*, *Measure Theory*, D. Van Nostrand Company, Inc. (eleventh printing), 1950.
- [14] *J. F. C. Kingman and A. P. Robertson*, On a theorem of Lyapounov, *J. Lond. Math. Soc.*, **43**(1968), No. 1, 347-351.
- [15] *R. Kruse*, A note on λ -additive fuzzy measures, *Fuzzy Sets and Systems*, **8**(1982), No. 2, 219-222.
- [16] *G. Shafer*, *A Mathematical Theory of Evidence*, Princeton University Press, 1976.
- [17] *M. Sugeno*, *Theory of Fuzzy Integrals and Its Applications*, Dr. Eng. Dissertation, Tokyo Institute of Technology, 1974.
- [18] *M. Sugeno*, A note on derivatives of functions with respect to fuzzy measures, *Fuzzy Sets and Systems*, **222**(2013), 1-17.
- [19] *M. Sugeno*, A Way to Choquet Calculus, *IEEE Transactions on Fuzzy Systems*, **23**(2015), No. 5, 1439-1457.
- [20] *Z. Wang*, Une classe de mesures floues—les quasi-mesures, *BUSEFAL*, **6**(1981), 23-37.
- [21] *Z. Wang and G. Klir*, *Generalized Measure Theory*, Springer, 2009.
- [22] *Z. Wang and R. Yang and K.-S. Leung*, *Nonlinear Integrals and Their Applications in Data Mining*, World Scientific, 2010.